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2. 2627k 8K° =
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() 25198 iy 168212 (i) 18212 (iv) 18¢2 (v) 672c°°
4. —5u4.—3u('9)=
M 8439 Gy =84 iy =541 (iv) 154 (v) 15439
5 - 3a5. - 7a2. - 2a('2)=
i) —12a729 Gy 5a5*2) Gy - 424 (v) —424729 (v) —124°
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7. Find the square root of PP 2 =
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Find the square root of 5
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29. Find the square root of 5
Qu
10 5 £ #20 10
(i) (i)~ (i) 5 (V) (V)
3u 3u 3u 3u 3u
2 c(_lo)
30. -5 f('7) =
5 A7) 2 A7) 57 2¢! 27
(i) (i) - (iii) - (iv) - (v) -
2 C(-lO) 5 C(-lO) 2 ClO 5 f10 5 ClO

31. Which of the following statements are true?

n m
a) (x7) = (")
m
X m
b) = XxXn
n
X
n
o) (Xm) _ (m+n)
d) am an _ amn
m m m
e)a.x = a .x
i a% = 1 (ax0)

(i) {b,f,a} (i) {b,a} (i) {d,e,a} (iv) {cf} (v) {af}

(a+b) p (b+0) (cta)

a
S S S

32. Simplify ( b) ( c) ( a)

33. Simplify (Wa) (Wb)

() -1 (i) 1 Gi) 0 (iv) w'@Fora

34. Simplify (v(/+/))(l j)( V(/+/<))(/ )( |/(k+/))( /

i AR G o i 1 v) 1 () v

a € pa b

S S S

35. Simplify ( b) ( C) ( a)

M) 1 () s (i) 0 (iv) 90T () 1
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44,

(Fro\ 4 (gemy 4 (meny 4
() (7)) (eT)
Simplify

(uf. ug.uh)

Q) uf. ug.uh (i) U(4f+4g+4h) (iii) u(7f+7g+7h) (iv) u(3f+3g+3h) (v) u(

49 25(3=4) 34(a-3)
Simplify

(16(8_4).5(8_3).6(8_3))

(i) 4(a+4)_5(—a+2)_6(—a+3) (ii) 4(_a+8).5(_a+2).6(_a+3) Giy 4%

(v) 4(7a+8) g(a-5) g(a-3)

If m3+ n3 + 03=0,then

1 1 1

(i) (m+n+o)=3m3n3o03 (ii) (m+n+o)3=27mno (iii) (m+n+o0)=27mno (iv) (m+n+o0)=3mno

Find the square root of g2m+2) 2m [(2m-2)

iy M g2m Am=1 g gm=1) m Am+1) e mel) om o dm=1)

(v) 2D 5 oM 5 Am=1)

0
(d5+ e5) =

Q) 4 (i) d°+ e (i) 0 (iv) (-2) (v) 1

1 1 1 1
Evaluate (/2 + k2)(/j2 - k2)=

(i) (+k) (i) (j=k) (i) 0 (iv) (/+/<)2 (v) 1

1 1 2 11 2
Evaluate(d3 + e3)(d3 - d3e3 + e3)=

(i) d—e (i) (d+e)2 (iii) (d—e)2 (iv) d+e (v) O

1 1 2 1 1 2
Evaluate(f3 — g3 ) (73 + 393 +93)=
. 2 2
(i) (9 )

(i) (/=g (ii) 0 (iv) f+g (v) f—g

1 1 1 2 2 2 11 11 1 1
(e3+f3+g3)(e3+f3+g3—e3f3—f3g3—g3e3)=

1 11 2 2
(i) e+ f+9g—3g3e3f3 (ii)) 0 (iii) (e=F~9)" (iv) (e+fH9) " (v) (e—f9)

87+89+8h)

4 5(_1).60
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45. (-5h/'j)x(9/10j4)x( - /5)=

5
81 81 81 27 27
(i —25/7/16/9 (i) - A2 13 i) —25/7/11/10 () S hitt W) 125j10hi6
46. Evaluate (n2 + 02)(n4 — n?0%+ 04)=
6 6 .24 .42 6 6_ 6 6 .24, 42 6

(i) n +o6 (ii) 0 (iii) n~+20™n +20 n"+o0 (iv) n—o0 (v) n —20"n 4+20 n —o

47. Evaluate (hz—l)(h4+ h2+1)=

M AP+2n% =1 (i) AP =2m%+1 Giy o (v) AP =1 (v) KO 2Rt 2R 41



Assignment Key

1) (v) 2) (v) 3) (v) 4) (iv) 5) (iii) 6) (iv)
7) (v) 8) (v) 9) (iv) 10) (v) 11) (iv) 12) (iv)
13) (ii) 14) (ii) 15) (iv) 16) (iv) 17) (ii) 18) (ii)
19) (iv) 20) (i) 21) (i) 22) (iii) 23) (iv) 24) (ii)
25) (iv) 26) (iii) 27) (i) 28) (iii) 29) (ii) 30) (v)
31) (v) 32) (v) 33) (ii) 34) (iv) 35) (i) 36) (iii)
37) (iv) 38) (i) 39) (iii) 40) (v) 41) (ii) 42) (iv)
43) (v) 44) (i) 45) (iii) 46) (i) 47) (iv)
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